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1. Operation Iron Swords, recently in the news, refers to which of the following?
a) Hamas attack on Israel on 7 October
b) Israeli operations in Gaza in reaction to Hamas attack
c) Israeli operations against Hezbollah at Lebanon border

d) None of the above

2. Which of the following proscribed groups has been mentioned by the FATF in connection with its of
terror financing in India?
a) Khalistan Zindabad Force
b) Jaish e Mohammed
c) ULFA
d) PFI

3. Consider the following pairs.

1) Food items Specific to region in India
2) Marcharice Karnataka

3) Rugra mushroom Tibet

4) Pittha Jharkhand

Select the correct code.
a) 1and2only

b) 3only

c) 1,2and 3

d) Only2and 3.

4. Consider the following statements w.r.t United Nations Forum on Sustainability Standards (UNFSS).

1) It aims to provide impartial information, analysis, and discussions on Voluntary Sustainability
Standards.

2) Voluntary sustainability is special rules that guarantee that the products you buy don’t hurt the
environment and the people that make them.

3) Itis ajoint initiative (VSS) of UNCTAD, FAO and other UN agencies.

Which of the above statements is/are correct?

Select the correct code.

a) 1land2only




b) 2and 3 only
c) land3only
d) 1,2and 3

. Consider the following statements.

1) India’s semiconductor industrial policy is being managed mainly by the Ministry of Electronics and
Information Technology (MeitY).

2) India Semiconductor Mission (ISM) focuses on manufacturing, assembly, displays and compound
semiconductors.

3) Centre for Development of Advanced Computing (C-DAC) is an R&D organisation under the
Ministry of Electronics and Information Technology (MeitY) that administers the policy for chip
design.

How many of the above statements are correct?

a) Only one

b) Only two

c) Allthree

d) None

. With reference to Intellectual Property Rights policy 2016, consider the following statements.
1) It is entirely in compliance with the WTO’s agreement on TRIPS

2) It aims to remove Compulsory Licensing clauses from India’s Patents Act.

Which of the above statements is/are correct?

a) 1lonly

b) 2only

c) Both1land2

d) Neither 1 nor 2

. With respect to the Governor, consider the following

I. His recommendations are prerequisite for introduction of Money bills in state legislature.
Il. Contingency Fund of State is under him.

I11. He constitutes the State Finance Commission every 5 years.

How many statements are correct?

a) lonly

b) 2only

c) Allthree

d) None




8. What does the Bletchley Declaration refer to?
a) Potential catastrophic consequences of artifical technology
b) Threats to marine life from oil spills
c) Threats to financial integrity from money laundering

d) Use of biotechnology to enrich healthcare systems

9. Consider the following statements on Odd-Even Policy
1) The main objective of the Odd-Even Policy is to increase the usage of public transportation.
2) Private vehicles ending with odd digits will be allowed on odd days.
3) Cars driven by women and CNG run taxies are exempt from this scheme.
Which of the following are correct?
Q) 1&2
b) 2&3
c) 3only
d 1,2&3

10. Consider the following statements with regards to QUAD
1) QUAD is an economic partnership between US ,Japan , Australia and India.
2) The idea was first mooted by Japanese PM Shinzo Abe in 2007.
3) Itaims to promote maritime security and cooperation.
Options
a) One statement is incorrect
b) Two statements are incorrect
c) Three statements are incorrect

d) None of the above statements are incorrect




